Year 4 Arithmetic 10 – AA

	1) 7641 + 2237 =
	2) 6618 + 4358 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	3) 7831 + 2955 =
	4) 1473 + 2258 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	5) 7472 - 3358 =
	6) 8766 - 4586 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	



	7) 5368 - 1960 =
	8) 6413 - 2969 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	9) 32 x 7 =
	10) 65 x 8 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	11) 42 x 9 =
	12) 46 x 3 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	








	13) 62 x 12 =
	14)  48 x 12 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	15) 28 ÷ 7 =
	16) 16 ÷ 8  =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	17) 45 ÷ 9 =
	18) 48 ÷ 8 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	








	19) 40 x 8 =
	20) 400 x 8 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	21) 80 x 5 =
	22) 800 x 5 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	23) 40 x 3 =
	24) 400 x 3 =

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	




HONESTY:

	1) 7641 + 2237 =9878
	2) 6618 + 4358 = 10978

	3) 7831 + 2955 = 10786
	4) 1473 + 2258 = 3731

	5) 7472 - 3358 =4114
	6) 8766 - 4586 = 4180

	7) 5368 - 1960 =3408
	8) 6413 - 2969 = 3444



	9) 32 x 7 = 224
	10) 65 x 8 = 520

	11) 42 x 9 = 378
	12) 46 x 3 = 138

	13) 62 x 12 = 744
	14) 48 x 12 =576

	15) 28 ÷ 7 = 4
	16) 16 ÷ 8  =2



	17) 45 ÷ 9 = 5
	18) 48 ÷ 8 = 6

	19) 40 x 8 = 320
	20) 400 x 8 = 3200

	21) 80 x 5 = 450
	22) 800 x 5 = 4500

	23) 40 x 3 = 120
	24) 400 x 3 = 1200



	25) 4/5 of 40 = 32
	26) ¾ of 44 = 33

	27) 5/6 of 42 = 35
	28) 2/3 of 36 = 24

	29) 2/8 of 24 = 6
	30) 4/7 of 28 = 16

	31) 6/8 of 88 = 66
	32) 6/7 of 63 = 54
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